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Valid BAPv5 Exam Dumps Ensureyou a HIGH SCORE (2024) Pass BAPv5 Exam with Latest Questions

BCS BAPV5 Exam Syllabus Topics:

TopicDetailsTopic 1- Identify tangible and intangible costs and benefits- |dentify a suitable quantitative or qualitative investigation
techniqueTopic 2- Use tools to represent the current business situation- Apply a suitable technique to analyse the internal
environment of an organisationTopic 3- Identify the stages of Design Thinking- Explain the process of gap analysisTopic 4-
Explain the use of atarget operating model (TOM)- Relate the business case to the business change lifecycleTopic 5-

I dentify advantages and disadvantages of the different investigation techniques- Explain the rationale for the financia case
and the appraisal techniquesTopic 6- Choose suitable methods to research the business situation- Identify generic stakeholder
categories using the stakeholder wheel Topic 7- Identify the 5 activitiesincluded in aBAM- Describe the use of divergent
and convergent thinking

NO.19 End users in one business area are unwilling to adopt a new finance management system (recently introduced by the
innovation team), as they perceive that it is unnecessarily complicated and not useful. One of the end users in this business area has
been very vocal and has been relying support from others since posting about it on the company& #8217;s intranet homepage.
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The introduction finance system was initially supported by senior managers, but now usersin other business area are also beginning
to question whether they adopt the tool and are raising the issue with their managers.

The sponsor fully supports the decision to go ahead with the now tool and has made il very cleat to senior managers that he expects
them to support this Initiative.

Which stakeholder management strategy SHOULD be taken with the senior managers?
* Keep onside.

* Constant active management

* Watch

* Keep informed

Explanation

The stakeholder management strategy for senior managers should be constant active management. Senior managers have high power
and high interest in the project, as they are responsible for overseeing its implementation and ensuring its alignment with
organizational goals. They also have influence over other stakeholders, such as end users and employees. Therefore, they need to be
regularly engaged, consulted, informed, and involved in decision making throughout the project lifecycle. Option B is the correct
answer.

References:

Stakeholder Analysis using the Power Interest Grid &#8211; ProjectManagement.com Power Interest Grid: How to Use, Benefits,
Examples &#8211; KnowledgeHut

NO.20 The customer journey map below was created for Eyes 4&#8217;U. achain of high street opticians This shows the journey
of aperson who is 67 years old and retired with alimited pension and active social life What are the MOST LIKELY statementsto
be in Box F and Box 6?

* F concern at cost 6 provide clearer information on options and pricing
* F: worry about choosing the wrong frame 6: introduce virtual frame selection technology
* F provide clearer information on options and pricing 6 concern at cost
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* F pleased appointment ending 6 provide clearer information on options and pricing
Explanation

A customer journey map is avisual representation of the steps and emotions that a customer goes through when interacting with a
product or service. It helps to identify the pain points and opportunities for improvement in the customer experience. A customer
journey map typically consists of the following elements: stages, actions, thoughts, feelings, touchpoints and opportunities.
Therefore, option A isthe correct answer, as it matches the elements of the customer journey map for Box F and Box 6. Box F
represents the feeling of the customer at the stage of choosing aframe. The feeling is concern at cost, as the customer isworried
about the price of the frames and lenses. Box 6 represents the opportunity for improvement at the stage of selecting lenses. The
opportunity isto provide clearer information on options and pricing, as this would help the customer to make an informed decision
and reduce their anxiety. Option B is not a correct answer, as it does not match the elements of the customer journey map for Box F
and Box 6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an opportunity for
improvement, not afeeling of the customer. Option C is not a correct answer, as it does not match the elements of the customer
journey map for Box F and Box 6. Box F represents the feeling of the customer, not an opportunity for improvement. Box 6
represents an opportunity for improvement, not afeeling of the customer.

Option D is not a correct answer, as it does not match the elements of the customer journey map for Box F and Box 6. Box F
represents the feeling of the customer, not an opportunity for improvement. Box 6 represents an opportunity for improvement, not a
feeling of the customer.

References: BCS Practitioner Certificate in BAP Specimen, page 23.

NO.21 A company produces kitchens to order. Customers specify the design of the kitchen by using a computer-aided design tool,
provided on the company& #8217;s website. The tool allows customers to select products, such as cabinets and cookers, and place
them into afloor plan of the kitchen that they have specified.

Once the customer confirms the design, an order is placed and the customer is given a planned installation date for the kitchen. The
company orders the raw materials for the kitchen and the kitchen is built by its skilled carpenters The customer can track the
progress of the build on the Internet. If the kitchen Islikely to be delivered later than originally promised, a control action is taken to
bring it back on schedule A Business Activity Model (BAM) developed for the company has & #8216;sell bespoke kitchens& #8217;
asitsdoing activity.

Which of the following activities would be directly linked by alogical dependency arrow to or from this doing activity?

* Track build

* Define carpentry skills

* Determine range of products.

* Take control action

Explanation

A logical dependency arrow on aBAM shows that one activity depends on another activity for its completion or initiation. In this
question, the doing activity of &#8216;sell bespoke kitchens& #8217; depends on the planning activity of

& #8216;determine range of products& #8217;, as the customers need to select products from a predefined range when they design
their kitchens. Therefore, option C is the correct answer.

References:
Types of Events: The Ultimate Guide with Examples | Social Tables

Business events overview &#38211; Finance & Operations | Dynamics 365
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NO.22 A business caseis being created for a new. automated auditing system that will improve the IT department& #8217;s ability
to record and monitor all the computing devices used across the organisation The sponsor of the project is keen to get a better idea of
the financial implications of the project and has asked for the simplest calculation possible This calculation should consider the
tangible costs and tangible benefits of the project, as well as showing when it will have saved the department as much money as it
has cost.

Which of the following investment appraisal calculations has the sponsor asked for?
* Payback calculation

* Net present value

* Internal rate of return

* Discounted cash flow

Explanation

An investment appraisal calculation is atechnique for assessing whether a proposed business change or solution isfinancially viable
and worthwhile. It helps to compare the costs and benefits of different options and select the best one based on objective criteria.
There are different types of investment appraisal calculations, such as payback calculation, net present value, internal rate of return
and discounted cash flow.

Therefore, option A isthe correct answer, as payback calculation is the simplest investment appraisal calculation that considers the
tangible costs and benefits of a project, as well as showing when it will have saved as much money asit has cost. Payback
calculation measures how long it will take for a project to recover itsinitial investment by comparing its cumulative cash inflows
with its cumulative cash outflows over time. It helps to show how quickly a project will break even or generate profit. Option B is
not a correct answer, as net present value is not the simplest investment appraisal calculation that considers only tangible costs and
benefits. Net present value measures how much value a project will add or subtract from an organisation by comparing its present
value of cash inflows with its present value of cash outflows over time.

It helps to show how profitable a project will be in today&#8217;s terms. Net present val ue requires discounting future cash flows
using an appropriate discount rate, which adds complexity to the calculation. Option C is not a correct answer, asinternal rate of
return is not the simplest investment appraisal calculation that considers only tangible costs and benefits. Internal rate of return
measures how efficient a project is by calculating its annualised effective compounded return rate or rate of growth over time. It
helps to show how attractive a project is compared to other investment opportunities. Internal rate of return requires finding an
unknown discount rate that makes net present value equal to zero, which adds complexity to the calculation. Option D is not a
correct answer, as discounted cash flow is not an investment appraisal calculation itself, but a method for estimating future cash
flows by applying an appropriate discount rate to reflect their present value. Discounted cash flow can be used in other investment
appraisal calculations, such as net present value or internal rate of return.

References: BCS Practitioner Certificate in BAP Specimen, page 31.

NO.23 Paul has been struggling to make his farm profitable for a number of years Recently, an energy firm has asked him if it can
survey hisland in order to determineif thereis natural gas deep under hisfields If thereis. they will pay him for the extracted gas.

Paul has discussed this request with his business partner, explaining that he would like to explore the possibility as he feels that any
subsequent extraction processis safe, will cause minimal damage to the farm, and will return the farm to profitability. Paul & #8217;s
business partner disagrees, believing that the process for extracting the gas is dangerous, that the machinery will spoil the landscape
and that it would undermine the vision they had of living off the land.

On which element of CATWOE are Paul and his business partner in disagreement?

* Customer
* Actor
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* Transformation
* Work view
Explanation

CATWOE is atechnique for exploring stakeholder business perspectives by identifying six elements:

Customer, Actor, Transformation, Worldview, Owner and Environment. It helps to understand how different stakeholders perceive a
business situation or problem and what they expect from a solution. Therefore, option D is the correct answer, as Paul and his
business partner are in disagreement on their worldview element of CATWOE. Worldview is the element that describes the beliefs,
values, assumptions or principles that underpin a stakehol der& #8217;s perspective. It helps to explain why a stakeholder thinks that
abusiness situation or problem is worth addressing or solving. Paul and his business partner have different worldviews regarding the
possibility of extracting natural gas from their land. Paul believesthat it is a safe, profitable and reasonable option that will improve
their financial situation. His business partner believesthat it is a dangerous, unattractive and unacceptable option that will
compromise their vision of living off the land. Option A is not a correct answer, as Paul and his business partner are not in
disagreement on their customer element of CATWOE. Customer is the element that describes who benefits from or is affected by a
business situation or problem or its solution. It helps to identify who are the main beneficiaries or victims of a business situation or
problem or its solution. Paul and his business partner have the same customer, which is themselves as the owners of the farm. Option
B isnot a correct answer, as Paul and his business partner are not in disagreement on their actor element of CATWOE. Actor isthe
element that describes who carries out or performs a business situation or problem or its solution. It helps to identify who are
responsible for implementing or delivering a business situation or problem or its solution. Paul and his business partner have the
same actor, which is themselves as the owners of the farm. Option C is not a correct answer, as Paul and his business partner are not
in disagreement on their transformation element of CATWOE. Transformation is the element that describes what changes or
processes take place in a business situation or problem or its solution. It helpsto identify what inputs are converted into outputsin a
business situation or problem or its solution. Paul and his business partner have the same transformation, which is extracting natural
gas from their land.

References: BCS Practitioner Certificate in BAP Specimen, page 37.

NO.24 The directors of Swift Despatch believe they might be able to improve their service and reduce costs by opening a
distribution centre in Coventry A team has been created to investigate this further, including representatives of logistics, property
and marketing Y asmin has been asked to advise on how the Business Case should be progressed at this point.

What SHOULD she advise?

* Create a high level Business Case

* Create a detailed Business Case

* |tistoo early to work on the Business Case

* Confirm with the directors the costs and benefits
Explanation

A high level Business Case is a document that provides a preliminary rationale and justification for a proposed business change or
solution. It helps to establish the feasibility and desirability of the project and secure initial approval and funding for further
investigation and development. Therefore, option A is the correct answer, as creating a high level Business Case would be the best
activity to undertake at this point for introducing a new procurement system. A high level Business Case would help to define the
problem or opportunity that motivates the project, identify and compare different procurement sol utions based on their expected
benefits, costs, risks and impacts, and recommend the preferred option for further analysis and evaluation. A high level Business
Case would provide a solid foundation for proceeding with the project and preparing a detailed Business Case later on. Option B is
not a correct answer, as creating a detailed Business Case would not be an appropriate activity to undertake at this point for
introducing a new procurement system. A detailed Business Case is a document that provides a comprehensive rationale and
justification for a proposed business change or solution. It helps to confirm the viability and worthiness of the project and secure
final approval and funding for implementation and delivery. A detailed Business Case would require conducting extensive research
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and analysis on the preferred procurement solution and presenting its definitive benefits, costs, risks and impacts. A detailed
Business Case would be premature and unnecessary at this point, as it would depend on the outcome of the high level Business Case
first. Option C isnot a correct answer, asit istoo early to work on the Business Case would not be an appropriate activity to
undertake at this point for introducing a new procurement system. Working on the Business Case is an essential activity for any
project that involves significant business change or investment. It helps to provide evidence and support for the project and ensure
its alignment with the organisation& #8217;s strategy and objectives. Working on the Business Case would not be too early at this
point, asit would help to establish the feasibility and desirability of the project and secure initial approval and funding for further
investigation and development. Option D is not a correct answer, as confirming with the directors the costs and benefits would not
be an appropriate activity to undertake at this point for introducing a new procurement system. Confirming with the directors the
costs and benefits would require preparing a high level Business Case first to estimate and compare the financial implications of
different options and recommend the best one for further development and implementation. Confirming with the directors the costs
and benefits without preparing a high level Business Case first would risk providing inaccurate or incomplete information that may
not reflect the value or feasibility of the project.

References: BCS Practitioner Certificate in BAP Specimen, page 33.

NO.25 How would a business analyst use a Target Operating Model (TOM) in gap analysis?
* To assess how far the organisation& #8217;s current activities support the desired situation.
* Toidentify how the organisation should structure itself to support the desired situation.

* To determine which activitiesin the desired situation are not financially feasible

* To establish which stakeholder views will not be reflected in the desired situation
Explanation

A Target Operating Model (TOM) is a high-level description of how an organisation wants to operate in order to achieve itsvision
and strategy. It defines what an organisation does, how it doesit, who doesit, where it doesit and why it doesit. A TOM can be
used in gap analysis to compare the desired situation with the existing situation and identify what needs to change to achieve the
desired situation. Therefore, option A is the correct answer, as using a TOM in gap analysis would help to assess how far the
organisation& #8217;s current activities support the desired situation. By comparing the current activities with those defined in the
TOM, agap analysiswould help to identify what activities are missing, redundant or inefficient in achieving the desired situation.
Option B is not a correct answer, asusing a TOM in gap analysis would not help to identify how the organisation should structure
itself to support the desired situation. The structure of an organisation is one aspect of a TOM, but not its main purpose. A TOM
defines what an organisation does more than how it organisesitself. Option C is not a correct answer, asusing a TOM in gap
analysis would not help to determine which activities in the desired situation are not financially feasible. The financial feasibility of
an activity is not determined by comparing it with a TOM, but by conducting a cost-benefit analysis or a business case.

Option D is not a correct answer, as using a TOM in gap analysis would not help to establish which stakeholder views will not be
reflected in the desired situation. The stakeholder views are not determined by comparing them with a TOM, but by conducting a
stakeholder analysis or a CATWOE analysis.

References: BCS Practitioner Certificate in BAP Specimen, page 27.

NO.26 The following planning activity has been identified in a consensus BAM for a company that makes clothes:

&#8216;P4 & #8211; Define marketing strategy& #8217;

Which of the following is an enabling activity linked to this planning activity?

* Monitor sales.

* Define sales targets

* Advertise clothes
* Sell clothes
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Explanation
An enabling activity isan activity that supports or facilitates another activity within a business activity model.

It helps to ensure that another activity can be performed or delivered effectively and efficiently. Therefore, option B is the correct
answer, asit isan enabling activity linked to this planning activity. Define sales targetsis an enabling activity linked to this planning
activity, asit supports or facilitates defining marketing strategy.

It helps to ensure that marketing strategy can be aligned with sales objectives and outcomes. Option A is not a correct answer, asit is
not an enabling activity linked to this planning activity, but a monitoring and control activity. Monitor salesis a monitoring and
control activity that measures or eval uates another activity within a business activity model. It helps to ensure that another activity
meets quality and performance standards and criteria. Option C is not a correct answer, asit is not an enabling activity linked to this
planning activity, but a doing activity. Advertise clothesis a doing activity that produces or delivers value or satisfaction for
customers within a business activity model. It helps to achieve customer demand and satisfaction for products or services. Option D
isnot a correct answer, asit is not an enabling activity linked to this planning activity, but a doing activity. Sell clothesis a doing
activity that produces or delivers value or satisfaction for customers within a business activity model. It helps to achieve customer
demand and satisfaction for products or services.

References: BCS Practitioner Certificate in BAP Specimen, page 40.

NO.27 The business case for project XCON has been signed off and money has been allocated. The business analyst on the project
wants to understand who the stakeholders are. how much authority they have, and how much involvement they want in the project
so that a stakeholder management plan can be created.

Which technique SHOULD the business analyst use to gain this understanding?
* CATWOE

* Power / Interest Grid.

* RACI chart

* Resource audit

Explanation

A Power / Interest Grid is atechnique for analysing and managing stakeholders based on their level of power and interest in an
organisation or project. It helps to identify who are the key stakeholders and how they should be engaged and communicated with.
Therefore, option B isthe correct answer, as a Power / Interest Grid would help the business analyst to gain an understanding of who
the stakeholders are, how much authority they have, and how much involvement they want in the project so that a stakeholder
management plan can be created. A Power / Interest Grid would help to classify stakeholders into four categories based on their
level of power and interest: high power, high interest; high power, low interest; low power, high interest; low power, low interest. A
Power / Interest Grid would help to determine different stakeholder management strategies for each category: active and constant
management; keep satisfied; keep informed; watch. Option A is not a correct answer, as CATWOE is not a technique for analysing
and managing stakeholders based on their level of power and interest. CATWOE is atechnique for exploring stakeholder business
perspectives by identifying six elements: Customer, Actor, Transformation, Worldview, Owner and Environment. It helpsto
understand how different stakeholders perceive a business situation or problem and what they expect from a solution.

Option C isnot a correct answer, as RACI chart is not atechnique for analysing and managing stakeholders based on their level of
power and interest. RACI chart is atechnique for defining roles and responsibilities of stakeholdersin relation to tasks or activities
within an organisation or project. It helps to identify who are Responsible, Accountable, Consulted or Informed for each task or
activity. Option D is not a correct answer, as resource audit is not a technique for analysing and managing stakeholders based on
their level of power and interest. Resource audit is a technique for identifying and evaluating the resources that an organisation has
or needs to achieve its objectives. It helps to assess the availability and quality of an organisation& #8217;s resources, such as
human, physical, financial and intangible resources.
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References: BCS Practitioner Certificate in BAP Specimen, page 39.

NO.28 As pari of astrategic review for arecording company, Exquisite Analogue, Jay has been asked to undertake a resource audit
Asaresult of him meeting with key stakeholders he has compiled alist of statements Which THREE of the following SHOULD be
included in the resource audit?

* There are two recording studios, one in London and one in Pans

* |n the back catalogue there are 20,000 anal ogue recordings

* Recent awards include Vinyl magazines & #8216;Customers Choice Award& #3217;.

* An offer has been made to purchase the company by alarger competitor

* Imminent tax changes may impact profitability

Explanation

A resource audit is atechnique for identifying and eval uating the resources that an organisation has or needs to achieve its
objectives. It helpsto assess the availability and quality of an organisation&#8217;s resources, such as human, physical, financial
and intangible resources. Therefore, options A, B and C are correct answers, as they should be included in the resource audit for
Exquisite Analogue. They describe different types of resources that the organisation has and that contribute to its performance and
potential. Option A describes a physical resource, which is atangible asset that an organisation owns or uses, such as buildings,
equipment or materials. Option B describes an intangible resource, which isanon-physical asset that an organisation owns or uses,
such asintellectual property, brand or reputation. Option C describes a human resource, which is a person or group that an
organisation employs or engages, such as staff, managers or customers. Option D is hot a correct answer, as it should not be included
in the resource audit for Exquisite Analogue. It describes athreat that affects the organisation externally, not a resource that the
organisation has or needs internaly.

Option E is not a correct answer, as it should not be included in the resource audit for Exquisite Analogue. It describes a factor that
affects the organisation externally, not a resource that the organisation has or needs internally.

References: BCS Practitioner Certificate in BAP Specimen, page 32.

NO.29 A large mortgage provider has been running a project to develop an equity release product The project has run into difficulty
due to a disagreement between two key stakeholders about whether the product should be developed in house or outsourced to a
specialist company.

The business analyst on the project. George, has been discussing his role in resolving this problem with his manager.

Which of the following descriptionsis George& #8217;s manager LEAST LIKELY to usein describing hisrole& #8217;?
* To understand and challenge the stakehol ders

* To facilitate the discussion to allow the stakeholdersto find away forward

* To negotiate with the stakeholders to reach aresolution

* To record the meeting and the resulting decision

Explanation

Therole of abusiness analyst (BA) isto analyse business situations and problems, identify and evaluate potential solutions, and
facilitate change within an organisation or project. A BA works with stakeholders at different levels and with different interests and
perspectives to understand their needs and expectations and ensure they are met by suitable solutions. Therefore, option C is not
likely to be used by George& #8217;s manager in describing hisrole asa BA in resolving this problem. To negotiate with
stakeholders to reach resolution implies that George has to persuade or compromise with stakeholders to agree on one solution or
approach.

Thisis not part of the BA&#8217;srole, asthe BA does not have the authority or responsibility to make decisions or impose
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solutions on stakeholders. The BA&#8217;sroleisto analyse and evaluate different solutions or approaches objectively and present
the findings and recommendations to stakeholders for their consideration and approval.

Option A islikely to be used by George& #8217;s manager in describing hisrole as a BA in resolving this problem. To understand
and challenge the stakeholders means that George has to €licit and validate the stakeholders& #8217; views and needs and question
their assumptions and rationale. Thisis part of the BA&#8217;srole, asthe BA has to ensure that the stakehol ders& #8217; views
and needs are clear, consistent, realistic and aligned with the organisation& #8217;s strategy and objectives. Option B islikely to be
used by George& #8217;s manager in describing hisrole asa BA in resolving this problem. To facilitate the discussion to allow the
stakeholders to find away forward means that George has to organise and conduct meetings or workshops with stakeholders to
explore and evaluate different solutions or approaches and help them reach a consensus or agreement. Thisis part of the
BA&#8217;srole, asthe BA hasto enable effective communication and collaboration among stakehol ders and help them resolve
conflicts or issues. Option D islikely to be used by George& #8217;s manager in describing his role asaBA in resolving this
problem. To record the meeting and the resulting decision means that George has to document and communicate the outcomes and
actions of the meeting or workshop with stakeholders and ensure they are understood and accepted by all parties. Thisis part of the
BA&#8217;srole, asthe BA hasto ensure that thereis a clear and accurate record of what has been discussed and decided by
stakeholders and that there is a shared understanding and commitment among them.

References: BCS Practitioner Certificate in BAP Specimen, page 36.
NO.30 George and Laura are responsible for the marking strategy in a company vinyl records and cassette tapes online.

George feels that the company should focus its marking solely on people aged over 50, who are nostalgic for these older recording
media. He also feels that the company should outsource al marketing activity.

Laura believes that the business should continue with its target of people aged 30-60. As this age group are particularly enthusiastic
about vinyl records. She believes that marketing is one of their internal strengths and should remain in house Which specific areas of
CATWOE are they considering?

* Customer and Owner.

* Actor and Transformation

* Transformation and Environment

* Customer and Actor

Explanation

CATWOE isatechnique for exploring stakeholder business perspectives by identifying six elements:

Customer, Actor, Transformation, Worldview, Owner and Environment. It helps to understand how different stakeholders perceive a
business situation or problem and what they expect from a solution. Therefore, option A isthe correct answer, asit identifies which
specific areas of CATWOE are they considering respectively.

Customer is the element that describes who benefits from or is affected by a business situation or problem or its solution. It helps to
identify who are the recipients or users of value or satisfaction from a business situation or problem or its solution. George and
Laura are considering customer, as they have different views on who should be the target market for their products (people aged
over 50 vs people aged 30-60). Owner is the element that describes who has the authority or power to start or stop a business
situation or problem or its solution. It helps to identify who are the decision makers or influencers of a business situation or problem
or its solution. George and Laura are considering owner, as they have different views on who should be responsible for marketing
activities (outsourced vsin-house). Option B is not a correct answer, asit does not identify which specific areas of CATWOE are
they considering respectively. Actor is the element that describes who carries out or performs a business situation or problem or its
solution. It helps to identify who are responsible for implementing or delivering a business situation or problem or its solution.
George and Laura are not considering actor, as they have no views on who carries out their products (although this may be related to
owner). Transformation is the element that describes what changes or processes take place in a business situation or problem or its
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solution. It helps to identify what inputs are converted into outputs in a business situation or problem or its solution. George and
Laura are not considering transformation, as they have no views on what changes or processes take place in their products (although
this may be related to customer). Option C is not a correct answer, as it does not identify which specific areas of CATWOE are they
considering respectively. Transformation is the element that describes what changes or processes take place in a business situation or
problem or its solution. It helps to identify what inputs are converted into outputs in a business situation or problem or its solution.
George and Laura are not considering transformation, as they have no views on what changes or processes take place in their
products (although this may be related to customer). Environment is the element that describes the external factors or constraints that
affect a stakeholder& #8217;s perspective or limit their options. It helps to explain what factors or constraints are beyond the
stakeholder& #8217;s control or influence. George and Laura are not considering environment, as they have no views on what
external factors or constraints affect their products (although this may be related to customer). Option D is not a correct answer, asit
does not identify which specific areas of CATWOE are they considering respectively. Customer is the element that describes who
benefits from or is affected by a business situation or problem or its solution. It helps to identify who are the recipients or users of
value or satisfaction from a business situation or problem or its solution. George and Laura are considering customer, as they have
different views on who should be the target market for their products (people aged over 50 vs people aged

30-60). Actor isthe element that describes who carries out or performs a business situation or problem or its solution. It helps to
identify who are responsible for implementing or delivering a business situation or problem or its solution. George and L aura are not
considering actor, as they have no views on who carries out their products (although this may be related to owner).

References: BCS Practitioner Certificate in BAP Specimen, page 37.

NO.31 Why would a Business Analyst use a consensus Business Activity Model (BAM) in gap analysis?
* To assess how tar the organisation& #8217;s current activities support the desired situation

* Toidentify how the organisation should structure itself to support the desired situation

* To determine which activities in the desired situation are not financially feasible

* To establish which stakeholder views will not be reflected in the desired situation

Explanation

A consensus BAM is a conceptual model that depicts the agreed view of what the organisation does or should do. It shows the
high-level activities and the logical dependencies between them. By comparing the consensus BAM with the current situation, a gap
analysis can identify where the organisation is not performing as desired or where there are opportunities for improvement.
Therefore, option A is the correct answer.

NO.32 A business case features a management summary, from which the below extract is taken:

&#38216; The new approach will incur significant investment in terms of software licenses and annual maintenance fees, which will
not be negotiable until year four of the proposal. We will research competing suppliersin the marketplace at end of year three, the
supplier will, therefore, be likely to otter areduced price for year five and beyond. However, we are convinced that the selected
option istheright one. It will give us a competitive edge as a result of improved management information, in addition to the boost it
will give to our image with our established customers.&#8221; Which categories of costs and benefits are described in this extract*?
* Tangible costs, intangible benefits.

* Tangible benefits, intangible costs

* |ntangible benefits, intangible costs

* |ntangible costs, tangible benefits

Explanation

A business caseis aformal written proposal that details the costs and benefits of a proposed business change or solution. It helpsto
justify and secure the approval and funding for a proposed business change or solution.

Costs and benefits can be classified into two types: tangible and intangible. Therefore, option D is the correct answer, asit identifies
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which categories of costs and benefits are described in this extract respectively.

Intangible costs are costs that have no physical existence and cannot be measured or quantified easily by human senses. Exampl es of
intangible costs are reputation, image, morale etc. An example of intangible costs in this extract is significant investment in terms of
software licenses and annual maintenance fees, which will not be negotiable until year four of the proposal, asit has no physical
existence and cannot be measured or quantified easily by human senses. Tangible benefits are benefits that have physical existence
and can be measured or quantified easily by human senses. Examples of tangible benefits are revenue, profit, market share etc. An
exampl e of tangible benefitsin this extract isimproved management information, in addition to the boost it will give to our image
with our established customers, asit has physical existence and can be measured or quantified easily by human senses. Option A is
not a correct answer, asit does not identify which categories of costs and benefits are described in this extract respectively. Tangible
costs are costs that have physical existence and can be measured or quantified easily by human senses. Examples of tangible costs
are equipment, materials, labour etc. There is no example of tangible costsin this extract. Intangible benefits are benefits that have
no physical existence and cannot be measured or quantified easily by human senses.

Examples of intangible benefits are satisfaction, loyalty, quality etc. There is no example of intangible benefits in this extract
(although image could be considered as an intangible benefit). Option B is not a correct answer, as it does not identify which
categories of costs and benefits are described in this extract respectively. Tangible benefits are benefits that have physical existence
and can be measured or quantified easily by human senses.

Examples of tangible benefits are revenue, profit, market share etc. An example of tangible benefitsin this extract is improved
management information, in addition to the boost it will give to our image with our established customers, asit has physical
existence and can be measured or quantified easily by human senses.

Intangible costs are costs that have no physical existence and cannot be measured or quantified easily by human senses. Exampl es of
intangible costs are reputation, image, morale etc. An example of intangible costs in this extract is significant investment in terms of
software licenses and annual maintenance fees, which will not be negotiable until year four of the proposal, asit has no physical
existence and cannot be measured or quantified easily by human senses. Option C is not a correct answer, as it does not identify any
category of cost or benefit that has been described in this extract.

References: BCS Practitioner Certificate in BAP Specimen,
NO.33 Adiyan has been considering the feasibility of introducing a new payments method into his company His draft report reads

&#38216; The new payment method has not yet been widely adopted although it has the backing of all the big phone brands. Our
current payments system will be upgraded next month to take payment as part of a scheduled release This method of payment will
be supported under our current license deal Trials have shown that the technology will scale to our customer base and cyber security
testing is encouraging&#8217; Which of the following is the BEST description of the areas of Technical feasibility mentioned in the
report?

* Proven. Compatible, Secure. Scalable

* Timely, Compatible. Secure, Scalable

* Reliable. Compatible, Secure. Architectural Alignment

* Timely, Reliable, Proven, Architectural Alignment

Explanation

Technical feasihility isthe extent to which a proposed business change or solution is possible and realistic from atechnical
perspective. It helps to assess whether a proposed business change or solution can be devel oped, implemented and maintained using
the available or required technology. Therefore, option A is the correct answer, as it describes the areas of technical feasibility
mentioned in the report. Proven is an area of technical feasibility that relates to whether the technology used for the proposed
business change or solution has been tested and verified by previous or existing users or applications. It helps to ensure reliability
and quality of the technology. An example of proven in the report is the new payment method has not yet been widely adopted
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although it has the backing of all the big phone brands. Compatible is an area of technical feasibility that relates to whether the
technology used for the proposed business change or solution can work or integrate with other existing or required technologies. It
helps to ensure interoperability and functionality of the technology. An example of compatible in the report is our current payments
system will be upgraded next month to take payment as part of a scheduled release. Secure is an area of technical feasibility that
relates to whether the technology used for the proposed business change or solution can protect or prevent unauthorised access, use,
modification or disclosure of data or information. It helps to ensure confidentiality, integrity and availability of the technology. An
example of secure in the report is cyber security testing is encouraging.

Scalable is an area of technical feasibility that relates to whether the technology used for the proposed business change or solution
can handle or adapt to changes in demand, volume or performance. It helps to ensure efficiency and flexibility of the technology. An
example of scalable in the report is trials have shown that the technology will scale to our customer base. Option B is not a correct
answer, asit does not describe all the areas of technical feasibility mentioned in the report. Timely is an area of technical feasibility
that relates to whether the technology used for the proposed business change or solution can be devel oped, implemented and
maintained within the available or required time frame. It helps to ensure punctuality and speed of the technology. Thereis no
example of timely in the report. Option C is not a correct answer, as it does not describe all the areas of technical feasibility
mentioned in the report. Reliable is an area of technical feasibility that relates to whether the technology used for the proposed
business change or solution can perform consistently and accurately without errors or failures. It helps to ensure dependability and
accuracy of the technology. Thereis no example of reliable in the report. Architectural alignment is an area of technical feasibility
that relates to whether the technology used for the proposed business change or solution can fit or align with other existing or
required architectures, such as business, data or application architectures. It helps to ensure consistency and coherence of the
technology. Thereis no example of architectural alignment in the report. Option D is not a correct answer, as it does not describe
any of the areas of technical feasibility mentioned in the report.

References: BCS Practitioner Certificate in BAP Specimen, page 48.
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